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QUESTION 1

Which one of the following would NOT be defined as part of every process?
A. Roles

B. Inputs and outputs

C. Functions

D. Metrics

Correct Answer: C

QUESTION 2

Which process is responsible for the availability, confidentiality and integrity of data?
A. Service catalogue management

B. Service asset and configuration management

C. Change management

D. Information security management

Correct Answer: D

QUESTION 3

Which stage of the service lifecycle is MOST concerned with defining policies and objectives?
A. Service design

B. Service transition

C. Continual service improvement

D. Service operation

Correct Answer: A

QUESTION 4
Which of the following are within the scope of service asset and configuration management?
1.

Identification of configuration items (CIs)
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2.

Recording relationships between Cls

3.

Recording and control of virtual Cls

4.

Approving finance for the purchase of software to support service asset and configuration management
A. 1,2 and 3 only

B. All of the above

C. 1, 2 and 4 only

D. 3 and 4 only

Correct Answer: A

QUESTION 5

The multi-level SLAW is a three-layer structure. Which one of the following layers is NOT part of this type of SLA?
A. Customer level

B. Service level

C. Corporate level

D. Configuration level

Correct Answer: D

QUESTION 6

Which one of the following is NOT a characteristic of a process?
A. It is measurable

B. It delivers specific results

C. It responds to specific events

D. It structures an organization

Correct Answer: D

QUESTION 7
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What is the BEST description of an operational level agreement (OLA)?

A. An agreement between the service provider and another part of the same organization

B. An agreement between the service provider and an external organization

C. A document that describes to a customer how services will be operated on a day-to-day basis
D. A document that describes business services to operational staff

Correct Answer: A

QUESTION 8

Which one of the following is the BEST description of a service-based service level agreement (SLA)?
A. An agreement with an individual customer group, covering all the services that they use

B. An agreement that covers one service for a single customer

C. An agreement that covers service specific issues in a multi-level SLA structure

D. An agreement that covers one service for all customers of that service

Correct Answer: D

QUESTION 9

Which one of the following does service metrics measure?
A. Functions

B. Maturity and cost

C. The end-to-end service

D. Infrastructure availability

Correct Answer: C

QUESTION 10

Which one of the following would be the MOST useful in helping to define roles and responsibilities in an organizational
structure?

A. RACI model
B. Incident model

C. Continual service improvement (CSl) approach
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D. The Deming Cycle

Correct Answer: A

QUESTION 11

Which one of the following is the purpose of service level management?

A. To carry out the service operations activities needed to support current IT services

B. To ensure that sufficient capacity is provided to deliver the agreed performance of services
C. To create and populate a service catalogue

D. To ensure that an agreed level of IT service is provided for all current IT services

Correct Answer: D

QUESTION 12

A process owner has been identified with an "I" in a RACI matrix. Which one of the following would be expected of

them?

A. Be accountable for the outcome of an activity

B. Perform an activity

C. Be kept up-to-date on the progress of an activity
D. Manage an activity

Correct Answer: C

QUESTION 13

Which one of the following is NOT the responsibility of service catalogue management?

A. Ensuring that information in the service catalogue is accurate

B. Ensuring that service level agreements are maintained

C. Ensuring that information in the service catalogue is consistent with information in the service portfolio
D. Ensuring that all operational services are recorded in the service catalogue

Correct Answer: B

QUESTION 14
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Which one of the following provides the CORRECT list of processes within the service operation stage of the service
lifecycle?

A. Event management, incident management, problem management, request fulfilment, and access management
B. Event management, incident management, change management, and access management

C. Incident management, problem management, service desk, request fulfillment, and event management

D. Incident management, service desk, request fulfilment, access management, and event management

Correct Answer: A

QUESTION 15

When can a known error record be raised?
1.

At any time it would be useful to do so

2.

After a workaround has been found

A. 2 only

B. 1 only

C. Neither of the above

D. Both of the above

Correct Answer: D
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